O #E (1 5&p)

=n 1cm 50cm Tm = R o, 2

No e BTG | BEAE | BEAE [ BAE | BIE | BAE | SABRESH | RA2 K
1RFNE 0.04 0.05 0.04 0.05 0.04 0.06 |1 L AO 5
2| N E 0.04 0.05 0.04 0.05 0.04 0.04 |25>aF 5
3|k ik 2N E 0.05 0.09 0.05 0.09 0.05 0.09 |ZUEMP[AO 5
ATHTHERENE 0.04 0.06 0.04 0.07 0.05 0.07 |BBEHMAO—TAO 5
T NE| 0.04 0.06 0.05 0.06 0.05 0.06 |[5¥. 75>aF 5
NEXI=NE| 0.04 0.05 0.04 0.05 0.04 0.05 [RFTF. i3 5
LR YN 0.04 0.06 0.04 0.06 0.04 0.06 [F{AIAOAE 5
8| B iBIANE 0.04 0.06 0.04 0.06 0.04 0.06 [FEfl k1 LADO 5
I HREDE 0.04 0.06 0.04 0.05 0.05 0.05 |FEJEHI 5
10| 2EHBELI-AE 0.04 0.05 0.04 0.05 0.04 0.05 |4 L AO., /KERAH 5
11{25FE=NE 0.04 0.06 0.03 0.06 0.03 0.06 |/KExHAHH 5
12| E BIFNE 0.05 0.07 0.05 0.07 0.05 0.06 |1 L AO 5
13|41 R A EI145 0.06 0.06 0.06 0.06 0.06 0.06 |/KExHAHH 5
144 RN [E22E 0.04 0.06 0.04 0.06 0.04 0.06 [ AOYL—F2 5 5
15|41 RN [E255 0.05 0.07 0.05 0.07 0.05 0.07 IRVUFTF 5
75




